[image: image1.jpg]


Edward R. Murrow High School

     Ms. Sarno & Ms. Albu

Allen Barge, Principal

American History Semester 2
POST WWII: The Cold War – Communism v. Capitalism
I. Capitalism vs. Communism 

	
	United States Democracy

(Capitalism)
	Soviet Union Government (Communism)

	Political Systems (Government)
	· Citizens pick their government leaders (voting).

· People have the right to start their own political parties.

· Corruption—interests are mostly for the rich people rather than the poor.
	· There is a dictatorship (Communist party leaders control the entire government).

· There is only one political party, the Communist Party that is allowed to rule the government.
· Corruption—people in power take advantage by giving themselves extra.



	Human Rights
	· Citizens have basic human rights, such as freedom of speech, freedom of expression, and freedom of religion, but there is still discrimination of race and gender (ex: blacks and women).


	· Men and women are equal.
· The Communist government controls the television, radio, newspapers.

· The Secret Police arrested people who spoke badly of government.

· Practicing religion was forbidden.

	Economic Systems (Money)
	· Capitalist Economy 
a. Individuals control the “means of production” – the factories and farms control how much goods they produce

b. Individual people can own businesses

c. There are social classes (rich, middle, poor) and the poorest live badly.
	· Command Economy 

a. Only the government controls the “means of production” – the government tells the factories and farms what and how many goods they can make 

b. Farms that used to be owned by individuals became owned by the Soviet Union.
c. Everyone is guaranteed a job, house, and free education.
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II. Background

During WWII, the United States and the Soviet Union (also known as the USSR) were Allies, even though their political (government), economic (money), and social (people) systems were very different. The Cold War was “cold” only in the sense that the two Superpowers NEVER confronted one another directly in war, but their global competition led to conflicts across the world. The roots of the Cold War lay in the competing systems of Western Democracies and Soviet Communism. While the United States and other Western nations hoped to spread democracy and capitalism, Soviet leaders promoted the spread of Communism.
Q1. Why is it called a “cold” war? 



























Q2. After WWII, the U.S. and the Soviet Union were known as “superpowers”. What do you think is meant by this? 
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III. Yalta Conference 

At the end of WWII, there was a major conference at Yalta that brought together the Big Three allied leaders again.  With victory close at hand, Stalin, Churchill, and Roosevelt all agreed that they would do what was best to keep the peace in Europe and the World.  
However, soon after, Stalin was afraid the USSR would be taken over again by foreign powers (like Germany tried to do during WWII). In order to protect Russia, he decided to take over all the neighbor countries around Russia and make them part of the Soviet Union (the USSR) as a “barrier” or protection from other outside countries. These countries were now called “satellite” nations. Satellite nations are communist nations in Eastern Europe on friendly terms with the USSR and thought of as under the USSR's control. 

Winston Churchill and President Truman said this was unfair to those countries and that the USSR is secretly trying to take over the world again and must be stopped. Churchill did not believe Stalin should be trusted because he went back on his word about making sure Europe would be free. Churchill called this barrier of satellite nations the “iron curtain.” It was called the iron curtain because Churchill thought the Soviet Union was cutting off those countries from the rest of the world and we did not know what was happening there or how they were treated. 

Q3. What is a “Satellite Nation?” Define and give two examples of countries from the map. 
Q4. Why did Churchill call these countries “the iron curtain?”

IV. Viewpoints of Truman and Stalin

Directions: Read through the two quotes by Truman and Stalin and answer the question below.



 Q5. Why didn’t the USSR and America trust each other?

Q6: EXIT TICKET

Answer the AIM QUESTION: 

The USSR and America had many differences after WWII such as _________________and ________________. 
This led to a Cold War between the two super powers. The USSR/America was responsible (choose one) for the 
Cold War because _________________________________________________________________________. 
Even though it is possible that the USSR/America (choose the opposite side) was also responsible for the Cold 
War because _______________________________________________________________________. The 
USSR/America was more responsible (choose the first one you wrote about again) 

___________________________________________________________________________________________.
President Truman’s Policies of Containment
President Truman wanted to keep Communism from spreading to other countries.  As a result, Truman tried to contain, or limit the spread of Communism to other countries around the world.  

DIRECTIONS: Read through the different events and containment policies and complete the template below.
	Containment Polices

	NATO: To make sure Communism did not spread in Europe, NATO (North Atlantic Treaty Organization) was formed. This consisted of Western European countries, U.S., and Canada. If a country part of NATO was attacked, the other NATO countries had to consider it an attack on their nation as well.  This idea was known as collective security.  Communist nations under the USSR formed their own collective security agreement known as the Warsaw Pact in response to NATO.  


	Truman Doctrine: Countries, such as Turkey and Greece were in danger of being overthrown by Communism.  As a result, the U.S. gave military and economic (money) help to free countries that Communists are trying to take over.  The U.S. did this because of the “Domino Theory”, which stated that if one country falls to Communism the neighboring countries will fall to Communism too.



	Marshall Plan: Western Europe was in bad shape after WWII.  The U.S. was worried these countries would ask from help from the USSR.  As a result, the U.S. helped them first.  This was known as the Marshall Plan, which gave money to free countries so they can rebuild homes, factories, and farms.  The United States did this to make these countries strong enough so that these countries will not need Communist help.



	Berlin Airlift: Stalin was threatened by the U.S. in Berlin, Germany.  Stalin took control of the city and blocked the western section that was a democratic government. The U.S. helped Berlin by giving it supplies it needed by dropping goods from airplanes.  They did this so the people would like America and not turn to Communism. 




During the Cold War, President Truman tried to contain Communism.  Four policies President Truman implemented were _________________________________, ______________________________________, and 

_______________________.  The first policy, known as the ____________________________, contained Communism from spreading by ___________________________________________________________________

___________________________________________________________________.  The second policy known as ____________________________, contained Communism from spreading by ______________________________

___________________________________________________________________.  The third policy known as 
____________________________, contained Communism from spreading by ______________________________

___________________________________________________________________.  The fourth policy known as ___________________________, contained Communism from spreading by _______________________________

______________________________________________________________. Containment was necessary/was not necessary (circle one) because ______________________________________________________________
____________________________________________________________________________________________. 
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“The Soviets cannot be trusted.  They will spread Communist Revolutions through Europe and Asia if we don’t stop them.  We must always keep our eye on them.  We cannot share our actions with [Joseph] Stalin because he might turn against us at any moment.” 


– Harry Truman, U.S. President (1945) 








“The United States has always worked against us.  Everything they’ve ever done has stopped us from succeeding.  The United States will not allow us to become friendly with nations that are close to us.  Because of this, we cannot have a friendship with them and they will never become our allies.”


 – Joseph Stalin (1946)








